PROFESSIONAL EXAMINATION BOARD

Group-2(Sub Group -4) Labour Inspector and other equivalent post
Recruitment Test

10th January 2017, 02:00 PM
Topic:- General Science

1)
Question Stimulus :-

During division of a plant cell, the organelle that split into two is .| T PRSP & AU & ??R'F'T,
BIRASHT, WA g YT A fauifora g1 sirar @

e Nucleus / P&H
e Cell membrane/ﬂﬁ'&ﬁﬂ%lﬁ
o Cell wall / BIfR1®T TR
o Ribosome/m'\‘ﬁ'q
Correct Answer :-Nucleus / PE®H
2)

Question Stimulus :-

The hormone responsible for metamorphosis in frogs is . ﬁﬂ?‘ﬁ A STATARUT & 'I%I'Q' ﬁrﬂﬂﬂﬂ' B'ITITT'I %
|

Adrenalin / 3fUqa® 3
Thyroxin / YTIRIfRT

Insulin /?;'{[I%H
e Testosterone / SR

Correct Answer :-Thyroxin / UTIRfeRI

3)
Question Stimulus :-

If a body moves covering a distance of ‘d’ metres in time ‘2> seconds, its speed’ s’ is expressed as / 3[R Uh d¥q

¢ APUS UG H < Wex Bt g8 a0 Bl 8 O SHPT AT <5’ 3 A AT b1 ™
o s=d/t

o s=t/d

Correct Answer :-s = d/t



4)
Question Stimulus :-
Fibers obtained from plants are / urel I ure BIgdar %

Wool, silk, cotton / S+, TR, 75 (HUTH)

Coir, jute, cotton /m\_ﬂa, v[c, '\‘ﬁ' (PUTYH)

Coir, jute, wool / FITIRAW ST, §c, S
Coir, jute, silk / TR STeT, T, IRW
Correct Answer :-Coir, jute, cotton / ITINTT SeT, TE, TF (PUT)

S)
Question Stimulus :-

Which one of the following is an example of viviparous animal? / fadd s
SIRTYS Y[ BT Teh IGTEX0T 272

Frog / He®
Ostrich / IR

Snake / T

e Kangaroo / &=
Correct Answer :-Kangaroo / $I_=
6)
Question Stimulus :-

In a class, Nalin is made to push a single bench where as Ram is made to push double bench. Who is applying more

force? TP H&M W, AR B TP 3T YBaA B H7T AT § Tafdb IH DI G- 99 B YHa B1 HgT AT 3|
3P 6 B9 AT BT 82

Nalin is applying more force / Afer 3iftres 9a e el %

e Ram is applying more force / JTH 3R g T @l %
Both are applying same force / HHTH d¢ M W®E
pushing a bench does not require any force /é’?: &I ybaq A fft 9a ot smazaswdr qﬁ %

Correct Answer :-Ram is applying more force / JIH 3R g T T@T ?

7)
Question Stimulus :-

A rainbow is an example of a spectrum that occurs due to / S YUY, @ETI' DT YD Jqlexul % ]| m PRI
ST BT 8



e Reflection of light / UhTRT b WRIgdd

e Refraction of light / UBIRT b1 3uad=

e Multiple reflection / aﬁ'ﬁlﬁ WRTad

e Dispersion of light / UBIRI BT uﬁ&hw
Correct Answer :-Dispersion of light / UhTRT BT qﬁ'éﬂ'ﬂ'UT
8)
Question Stimulus :-

During complete combustion, the color of the flame produced in the gas stove burner is / Wf qoH & aTF'I,

T Wra g% # I~ g3 ol BT JT 81 8
Yellow / UteT

Black / Tell

Blue / <ftelT

Green / BT

Correct Answer :-Blue / SIelT

9)

Question Stimulus :-

Rust is a Fungal disease that affects / m-ﬁﬂ, Usdh W@.ﬂ'ﬂ' FHRY % il 3'\& YHIfad Sl %
Wheat / ﬂf

Banana / Hdr

Citrus / IS¢

Cotton / ?“_‘f

Correct Answer :-Wheat / ﬁ'é"

10)
Question Stimulus :-

To prevent oxidation of the filament in electric bulbs, it is filled with a non -reactive gas / fooielt e | ?Iﬂ Cadj

JTRfiHRu AP & frg, s9d wa IR-ufafsparshe i +: ot 21
Neon / f¥aiT

Xenon / AT

Oxygen / SiTaRITeT

Argon / 3R



Correct Answer :-Argon / 3T
11)
Question Stimulus :-

The measure of amount of water vapour in the atmosphere is called / HTQTI?:?I' H S 9T D1 /AT BT HIY
FEArT 8

e Humidity / 3Tseat

e Temperature / ATYHTA

. Transpirationlm

e Evaporation / dTSU-{
Correct Answer :-Humidity / 3Tser
12)
Question Stimulus :-

Which one of the given metal is used for electroplating bicycle handle bars that gives a shiny look & protects it

from corrosion/ﬁq?ﬁwaﬂgmﬂm%%ﬁaﬁ%m%mmﬁﬂﬁﬁ%ﬁ@
THPGR T4 ad! 3 U9 H&Ror & a1t 3

e Iron/ ?ﬁ'&'
o Zinc/i®
e Chromium / IToaH
e Aluminium / Qﬁ&lﬁ'ﬂ'ﬂ'
Correct Answer :-Chromium / SITHIH
13)
Question Stimulus :-
Identify the INCORRECT statement / T¢I Y- G| 'CIB?-ITﬁI'Q'
e Replace a bulb only after it is switched off / dcd B dad &g [+ CrCK:g diq ﬁ W
e Plug in appliances before any repair / frdt ot IR § ugd SUBRON I W H SRy

. Neve.r touch electrical gadgets when hands are wet. / STd §IY et 33f al & +ft faerelt & Syl &Y
19Ul
e Unplug appliances before any repair / foreft oft I 9§ vse SUwRUN &1 Wt A AT |
Correct Answer :-Plug in appliances before any repair / frdt ot IR § ugd SUBRUN B W H @
14)

Question Stimulus :-



Which of the following is NOT a physical change? / fEadasN a1 Wifaw ufad= qﬁ%"
¢ Crushing of paper / PTG BT HHTAT
e Folding of paper / PRI BT ST
¢ Burning of paper / DI BT STl
e Tearing of paper / PITS b B CHI
Correct Answer :-Burning of paper / DI T STl
15)
Question Stimulus :-

Cotton is a polymer made up of a large number of glucose units called / PUH, Th dgddd giar % Ell a@' Tamait
A qp s e dgaargford _ sgromarg!

CeIIquse/@ﬁ?ﬁTx{

e pvc/Utdt. .
e Polyethylene / tlﬁ"lﬁﬁﬂq
o PET/ULEA.

Correct Answer :-Cellulose / ﬁq?hvr
16)
Question Stimulus :-
Grasshoppers make a loud noise by / ﬁg‘% m [-1Kd| ot 3fmars fAeTad %
e Rubbing their wings together / 3 Ual B A1y H T[S BT
¢ Rubbing their hind legs against their wings / 37+ fUsd O=Y &Y oru= vl & faudia S DY
e Forcing air out of their mouths / 3= 'ﬂ@ 3 odl 3| dTeY HHPY
e The vibration of their wings / 3 tl@ B FEH ﬁ

Correct Answer :-Rubbing their hind legs against their wings / 3 fUsd IR @) A uE! & faudia
TS DY

17)
Question Stimulus :-

Satish ‘s car has broken down & he is caught in a thunder storm. He sees a bridge, a building and a
tree at a little distance away from the car. He would be safer if / AT DY Tﬂé‘T &C TI'§ % 3R dg W—.@_cﬁ
faerelt 7 sritht-quwr ¥ v Tar 31 39 TE A NS g8 R T qa, v A’ ok v v e usar B 9w
Grfara grm afe -

e He stands under a tree / dg ﬂ3 CoEiE] ST 'Eﬁ?lT %
e He sits inside the car itself / dg 1113'“[ & fiar a aodl %



* He stands under a bridge / dg o | ST ﬁ?ﬂ %
¢ He stands inside a building / dg SHIRd & iR sl Eﬂ?ﬂ %
Correct Answer :-He sits inside the car itself / dg 1TI?':."’[ & fiar 'éT aodl %
18)
Question Stimulus :-
The largest gland in the human body is / HIHd TR A g9 a@ Ufy %
e Liver /9 d
e Salivary gland / AR-UfY
e Endocrine gland / 3id: gt 9y
o Bile /U
Correct Answer :-Liver / 9®d
19)
Question Stimulus :-
Cuscuta is an example of / PIPCT FHDI Th Ialg Ul %
Parasite / URSTIQ!
Saprophyte / qc?ﬁ'ﬁﬁ
Autotroph / U
Host / 3fadq

Correct Answer :-Parasite / GRGitdl

20)

Question Stimulus :-

Clinical thermometer is sterilized by dipping in / siaedt yrtHier & E'H'ﬂ' @W ﬂ"'ITU;R'%?I' CRIBIRCIG

Boiling water / Sd¢dl Tt

Alcohol / Qﬁﬁﬁﬁ

Shaking it / §9 fgaTd §¢

Boiling water followed by alcohol / I9dd Ul & diq Wﬁﬁ [-1Kd)

Correct Answer :-Alcohol /Eﬁ'ﬂﬁﬁ

21)

Question Stimulus :-



PCRA is a body created by Government of India in 1977 for promoting energy efficiency
& conservation. PCRA stands for / TRISIRY &1 fAH{0l, 4RI TRPR §RT 1977 # Sell &HaT 3N
TREUT P 9graT &1 & Ie=d | forar war 411 fiefemme &1 o 3 -

e Petroleum Consumption Resource Association / ﬁaﬁim Far frad Q'\‘ﬁ'ﬁf@q
e Petroleum Conservation Research Association / ﬁ@ﬁmn W&QF‘I T E'\‘hﬁm
e Petroleum Consumption Research Association / ﬁaﬁim DI ﬁmfmﬂﬁlw
e Petroleum Conservation Resource Association / ﬁgﬁﬁnm W%QFT frart Q@'ﬁl’@q
Correct Answer :-Petroleum Conservation Research Association / ﬁ@ﬁltm PorawE R Q’@W
22)
Question Stimulus :-
Which one of the following is a method of irrigation? / 399 4 ®19 Ri=rs &t v fAfY @
e Burrow /fS@
e Furrow / @fd®T
e Harrow / Jedl
e Fallow / Gl
Correct Answer :-Furrow / a1
23)
Question Stimulus :-

Earth has atmosphere around it while the Moon does not have. This is because of the absence of sufficient /Qﬂ

& URT SR AGHS g TG T5HT W 81 ¢1 Va1 ygiw & JUTT P I &
* Magnetic force / gaﬂﬂ"q qd
« Frictional force / THUT g
* Gravitational force / '{Rﬁﬂ'ﬂ qd
e Electrostatic force / TR agu?r qc
Correct Answer :-Gravitational force / {Rﬁﬂ'q q9d
24)
Question Stimulus :-
Weathering refers to the process of / SU&™, ufeear 3| E'SZTTHT %
« Breakdown of soil / gl &1 sgfaueH

* Formation of soil / ﬁl@ﬂ*ﬁm
e Formation of rock/ﬁﬁmﬁ'qfw



e Formation of rain / ST @1 &
Correct Answer :-Formation of soil / figt &1 3T
25)
Question Stimulus :-

Birds which fly to faraway places every year during a particular time to avoid severe climatic conditions are called /

qraTaRol Bt uRfRAfTal & g9 & o o° 919 Ue Oy 999 & g R I & g 3800 WA
ueht wgard §

e Endangered birds / JWIUTd geft
e Threatened birds / SHEUXT &it
e Migratory birds / varst q&'ﬁ
e Rare birds / GI_-B' geft
Correct Answer :-Migratory birds / yarst yeht

Topic:- General Hindi
1))

Question Stimulus :-

FdH P fpa Ag ® 2
. 9R
. UrT
e B
g9 | DI Tl

Correct Answer :-9:

2)

Question Stimulus :-

i} BT AT ARAT YaTax &1 31 3-
TR HRAT

P s ger 3

HOR A Y UGR AT
EUKEl

Correct Answer :-g8 T

3)



Question Stimulus :-
Forzear 2reg o1 Y fasde g -
. Frr+9q
o M:+3@
o Al +TA
. Fa+9a
Correct Answer :-f: + Ta
1)
Question Stimulus :-
IYT I91 9 TAT A § 9 59 dieifad 1 98! ol Bifew |
. AHSER HAfR St =T H a1 8
o Ry fRT =T 31 w=iT fora Fvar @
Correct Answer :-3(dg ST (U=t FUF WA forar Hrar 8
S)
Question Stimulus :-
T Al
. TI+TG
. TA+RG
. da+¥a
. AT
Correct Answer :-T3+qd
6)
Question Stimulus :-
Frafafea d 9 i e gerae sred s are 2
o YRIMHG PRl
o HIF TR efiar 3T

o URATE A P



o IS W A T T
Correct Answer :-ﬁﬁ? R %ﬁv@n a"_'lT
7
Question Stimulus :-

e o @ g ot fpaat @2

Correct Answer :-HCHI
8)
Question Stimulus :-
«uelt St S5 I W A~ Ywifhd g P W EW R 2
. fd aTaP
o SIfar arere
o HIG dIdd
o YHg didd
Correct Answer :-HId dI®
9)
Question Stimulus :-
Hyad: ore quf g1 S|
3 & YR IR ITYT IR BT UG Ugan=a |
. Hagarad
. fowrafe dtue
o TOMATAD
o HPbdarad
Correct Answer :-ﬂ%?ﬂ'ﬁl?ﬁ
10)

Question Stimulus :-



Correct Answer :-T&dl
11)
Question Stimulus :-
ffe AR AY a8
o gufa 3T T8t gyt
o TS YT APufa gematt
- YU TS TET UYRA|
. gufd Tt el TRt
Correct Answer :-STEUT TSl T§1 UYRA|
12)
Question Stimulus :-
e H IuH -
. 3
. 3
. TSI
.« 3
Correct Answer :-3T
13)
Question Stimulus :-
Tt 3Tl & T 7 8P & e Uy g 81
o UHE
. W&
. faueft
- STF H A DI TR



Correct Answer :-qﬁ&‘f
14)

Question Stimulus :-

9 YBR & Ufaded | fdt Iw41, TuT, 36& scfe &1 faavor fiear srar g1
. faavonE® yfadea
. fRTa yfode
. WSS Ufade
. Slgw P
Correct Answer :-TT3-TcH® Ufddgd

15)

Question Stimulus :-
R H IuIt 3-

e W}

. |

I |

o R
Correct Answer :-UXT

16)

Question Stimulus :-

TR S G ICH PG ?
. ®H 3R foran
. Tal 3 fopar
. HH 3R fa=iyor
. Jex4 IR fady
Correct Answer :-3¢.¥9 3R fadg
17)
Question Stimulus :-
it 7, e, U, awn, Yot safe &1 dur fear man faavor sgam g1
o fdRUTE® gfadea



o FfdrTa gfde

o HTSATHSD Ufddgd

. S T
Correct Answer :-fdaRuITe® Ufade
18)
Question Stimulus :-
oty o1 afy fawde ghm -

e Moredy

. PR+ @Y

. PR+

. et + 3y
Correct Answer :-fo: + @Y
19)
Question Stimulus :-
TfEarr ® 7oy B-

o St

Correct Answer :-3'I'F-ﬁ
20)

Question Stimulus :-

‘3T ¢ Xeg & Wl U B g

Correct Answer :-Glﬁ[

21)



Question Stimulus :-

STRITATS! AFG B TR A g1 T YR IE 8 fh S9R o1 U1 | €} GUR gera1 8 | 99T &1 g9 -
S, TRT-3(TRT, BT — ATY, I — T 31 T & SR gRT HATferd 811 81 59 WG Ueea
R JTeTia gfea &1 g |

o 3id Y BT HeTl

o TR BT S SRTOTT, 3111 T &1 Rig

.« 3 D! AT HBI YU HBl SMIT

o ST! IRG AT AR TP A1 S
Correct Answer :-E;’HT &1 AT ﬁ Yyq ﬁ@TﬂT
22)

Question Stimulus :-

EHE AT R A

Correct Answer :-&%
23)

Question Stimulus :-

fFrafafed § 9 3 ad+1t &1 9949 Sifoe?

Correct Answer :-Wﬁ
24)

Question Stimulus :-

«3TUep TIN&T 33t g1 3rdf #1 TP A ug frd UoR &1 I B
. SOARP



Correct Answer :-gT[d[dd
25)

Question Stimulus :-

«3p 3T «3f:” T ARY TT9 4 fpad 32

. guf
Correct Answer :-?:."iﬁ

Topic:- General Mathematics

)

Question Stimulus :-

The coordinates of the midpoint of the line joining the points (4x , - 2y) and (2x, - 4y) are / ﬁ?\?ﬁ (4x, - 2y) 'E[a

@2x , - 4y) P SAIeA aTel} a1 & weafdg & e @
* (x,-y)

(2x,-y)

(3x,-3y)

2x,-2y)

Correct Answer :-(3x , - 3y)

2)

Question Stimulus :-

A PQE and A STR. are two equilateral triangles.
If 'T is the midpoint of QF. | then the ratio of the F

areas of A PQR and A STRis / APQR U@ A STR g

a‘rm@ﬁ“ﬂaﬁ afe QR & Aeglag ‘T 8

a9 APQRUT A STR & &TA%E &I 399d ¢ @ Q R
e 4:1

e 2:1



e 1:4

e 1:2
Correct Answer :-4 : 1
3)
Question Stimulus :-

The sum of the deviations of the variant values 6, 4, 7, 13 and 10 from their mean is / O 'ﬂ?ﬁ 6,4,7,

1304 10 & HIeH | 39 faaal 1A 8
o 1
3
° 2
e 0
Correct Answer :-0
4)

Question Stimulus :-

" 1 gon. A .
Ifa+—=16anda’+—=45 then a+-= | AR 2 +—=16Td
a o 2

a a

L 1
S il %, 3d: a+31=
a

a
e 2
e 8
*3
* 5
Correct Answer :-3
5)
Question Stimulus :-

Find the linear equation with two variables which form a system of equations with - 15x - Sy = 2 that has no

solution. / &I TR AT YW HIHRUT B JId BY, Sl - 15x - Sy = 2 P Y TH FHH0 g o1 9914 & SRap1
oIS 5 181 3|

e 3x-4y+7=0
e 3x+y-3=0
e 5x-7y=5

e 3x-2y=3



Correct Answer :-3x +y-3=10

6)

Question Stimulus :-

ABis a tangent from a point A to a circle with centre '0'and BOCis a
diameter of the circle such that #AOC = 110", then #0AB = | &g ‘0
arel U&h ded & f9g A ¥ AB & o9l {@r § vd BOC ged &I
O & 59 UK & £A0C=110"%. 09 20AB =

o

e 20

o

* 40

o

e 30

o

e 55

Correct Answer :-20°
7)
Question Stimulus :-

{1 —cosA)(1+cosd)
(cosecA+1lcosecA—1)

- P = . (1-cosA){1+cos4)
afe m=180°Ta A 3-%-: el (cosecA+1)(coseca—1) = %

Ifmr=180° mﬂA:g:mm the value of

e Y =] | =

| b

9
Correct Answer :- 4

8)
Question Stimulus :-

From a pack of 52 cards, all the clubs are removed. From the remaining cards, a card is drawn at
random. Find the probability that the card drawn is a face card. / Y 52 dI=I FT P UP ﬁ, Tt



¥4 (RIS ger feu =T 81 9@ g uwil A |, arefosear § vs vy« fHwrer siar 8 | wikiear 4
$ & Tar a1 U= U B B1S (J16=ITE, 979 T o) &

3

Correct Answer :- 13

9)
Question Stimulus :-

Find the roots of the quadratic equation 4x2 + 5(a - b)x + (a2 + b2 - 2ab) = 0 / fguTdra B 4x2 +
5(a - b)x + (a2 + b2 - 2ab) = 0 & Hal DI JTA BL |

b

° E;E)= fb_&}

)

—b

(r.z-;bj : (E

{-E;b} : {-E;b}

b

=. (59

b_

3. (b-a)

Correct Answer :- *#
10)
Question Stimulus :-

Two dice are rolled simultaneously. What is the probability that the product so found is not a prime number? / 3-']'

U TP 91y b | 1 Ui dr § P e 81 a1 UM U rHTST S T T8l 82
. 1/6
. 11/18
.« 5/6

e 7/9



Correct Answer :-5/6
11)
Question Stimulus :-

If the perimeter of a triangle with vertices (0, 8) , (x , 0) and origin is 24, then 'x' =/ Tlﬁ Udh ﬁaﬁrmwﬁmq,

forad 2 (0, 8), (x, 0) FUI HA fig 24 %, T x =

Correct Answer :-6
12)
Question Stimulus :-

Find the cost of painting 7 cylindrical pillars at Rs 50/sq m, if the radius and the height of the pillar

are 25cm and 4m respectively. / 7 SAATHR THT B U B AR 50 Fomﬁaﬁmﬁ,
gfe Tl @1 AT Ta Sars o 25 AW T 4 W g |

e Rs 2200 /3=, 2200
e Rs 3500 /3. 3500
e Rs 4600 /3=, 4600
e Rs 5140 /3=, 5140
Correct Answer :-Rs 2200 / 3=, 2200
13)
Question Stimulus :-
LCMof 22 x3x5and 22 x 7 x 5is/ 22 x 3 x 5 3R 22 x 7 x 5 BT AYAH JHITH @
e 420
e 400
o 240
e 600

Correct Answer :-420
14)

Question Stimulus :-



The number of points on x- axis which are at a distance of 3 units from (3, 7) is / x-3{& UX ﬁf&'\?rﬁ L4

=T §a1T, Wi (3,7) W 3 FPIS Bl I W IRUA T :
e 2
e 3
e 1
e 0
Correct Answer :-0
15)
Question Stimulus :-

In A ABC. AB = AC. The bisectors of 2B and £C meet AC and AB in
E and F respectively. Find AF - AE / A ABC #. AB=AC %I £B

Ud £C & GHGAH® AC td AB d &AW E td F ox fAed
€1 AF - AE 10 &

Correct Answer :-1:1
16)

Question Stimulus :-

If @ and J are the zeros of the polynomial fix) =x?+ 2ax+4al +c.
then the value of a® + B2+ afis / IfE a Tad B EEQ& fix)=x*+
Jax +4a’+c & e §, dl a® + 2 +af B AT § !

e atc

* C

e a-¢
Correct Answer :-- ¢
17)

Question Stimulus :-



Find the median marks obtained by the students using the cumulative
frequency curve given below. / Al U I Hodl aRERdr a&
& T HXT Y BT g@RT 9vd 63 I ARl HT ATH
ST
300

250 -

200

150

100

20

—» Mo, of Students

e 45

e 62

e 70

e 55
Correct Answer :-45
18)
Question Stimulus :-

ABCD is arectangle. If #CAB = 46 _then ZADE = [ ABCD U&
3T 81 I £CAB =46'8, O9 £ADB =

o

e 44

o

e 38

o

* 46

o

e 54
Correct Answer :-44°
19)
Question Stimulus :-

The height of a right circular cylinder is 8m. If four times the sum of the areas of its two circular faces
is three times the area of its curved surface, then the radius of its base is / T &d Qﬁ'l'q CREEA
&g 8 Ho 31 1fe 39% &Y g<iia urRd & &Fwal & T BT AR AT 39 a5 GHIT &6 b1
&1 T B | 99 59 SMUR $t B g:

e 4m /4R



e 6m/6HICY

e 55m/5.5HeER

e 3m/3 R
Correct Answer :-6m / 6 Hex
20)
Question Stimulus :-

The height of the frustum of a cone is 12cm and if its slant height is 15¢m, then the difference of the

radii of the two circular ends is /U%WW%W ﬁﬁ'l'sc 12 ﬁ@mmm
15 QW B, 99 39F SN gita RRY 9t s &1 e g

e 8cm /8 T

e 10cm /10 FHT

e 9cm/9 HHI

e 13cm /13 &t
Correct Answer :-9cm /9 HHY
21)
Question Stimulus :-

For what value of 'n' is the n'" term of the following two A.Ps is the same?

i) 5,12,19........ ii) 51,45,39...cevvveennnnn /
FrafifRd & aHiaR R0 ¥ nf ug ¥ g n STHF w12 ) 5 g0 22
i) 5,12,19........ i) 51,45,39c00vvvennnnnn

. 25

.« 30

. 23

¢ No value of 'n'/ ‘n’ Waﬁ'&;qﬁqﬁ
Correct Answer :-No value of 'n' / ‘n’ dI Hﬁ% HH qﬁ
22)

Question Stimulus :-

If the total surface area of a hemisphere is 1087 cm?. then its diameter

is | Al T FEINS AT Fel gOT &l 1087 AL G, af
STl o b

o 8cm /8 THI



e 12cm/ 12 94

e l4cm /14 T

e 18cm /18 Tt
Correct Answer :-12cm / 12 TH
23)

Question Stimulus :-

Ifa.b . carenon zero real numbers such that a + 2b +3c=0. then
a+2bk 2b+3c a+3c
2 2 =

c o b
| afg a.b.c AR aRTAH GEAT 58 UHK § & a+2b+

a+z2bk 2b+3c a+3c
=1 =k= =i

3c=0, dd T T g
e 0
e -6
e -1
e -3

Correct Answer :-- 6

24)
Question Stimulus :-

Evaluate 2*° x 2% -4 x 4% | 2%6x 2% - 41 x4'® FT A AG

Correct Answer :-0
25)

Question Stimulus :-

Which of the following is a quadratic equation? / fafafeada o= Udh fouma gfieor %?

LK T—=H"



2
x +-=4x
Correct Answer :- ®

Topic:- General English
1)

Question Stimulus :-
Read the sentence carefully and choose the option that has an error in it:
During a rain storm, mud rivulets formed on the side of a hill move soil from one place to other.
e During a rain storm,
e mud rivulets formed on the side of a hill
e move soil
e from one place to other
Correct Answer :-from one place to other
2)
Question Stimulus :-
Choose the option that best transforms the given sentence without changing its meaning:

To escape severe punishment you must confess your fault.
e Either you confess your fault or you will be severely punished.
e Either you confess your fault and you will be severely punished.
e Either you confess your fault but you will be severely punished.
e Confess your fault or else you will escape punishment.
Correct Answer :-Either you confess your fault or you will be severely punished.
3)
Question Stimulus :-
Choose the option that best transforms the sentence into its Direct / Indirect form:
‘I wish my children would eat without a fuss!’ she said.

e She said she is wishing her children will eat without a fuss.



e She said she wished her children would eat without a fuss.
e She said she wished her children had been eating without a fuss.
e She has wished her children must eat without a fuss.
Correct Answer :-She said she wished her children would eat without a fuss.
4)
Question Stimulus :-
Choose the option that is closest in meaning to the highlighted word in the given sentence:
I had been rudely awakened.
e slept
e made weak
e disturbed
e roused
Correct Answer :-roused
S)
Question Stimulus :-
Choose the most suitable determiner for the given sentence:
Whomdid __ children go with?
e this
e those
e that
* some
Correct Answer :-those
6)
Question Stimulus :-
Complete the sentence choosing the right form of Prefix:
This is a nasal __congestant. It will clear the congestion.
e re-
e de-

® pre



Correct Answer :-de-
7)
Question Stimulus :-
Choose the option that best transforms the sentence into its other voice:
The invoices are now sent out a week earlier.
e The department now is sending out invoices a week earlier.
e The department now sends out invoices a week earlier.
e We sent out invoices a week earlier.
e A week earlier itself we are now sending invoices.
Correct Answer :-The department now sends out invoices a week earlier.
8)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

I enjoy my morning walks; , the weather is very pleasant today.
e hence
® moreover
e otherwise
e however
Correct Answer :-moreover
9)
Question Stimulus :-
Choose the option that best punctuates the given sentence:

One student studied really hard for the exam surprisingly she failed the exam

¢ One student, studied really hard for the exam, surprisingly! she failed the exam!

e One student, studied really hard for the exam, surprisingly, she failed the exam.

e One student studied really hard for the exam! Surprisingly, she failed the exam?

e One student studied really hard for the exam; surprisingly, she failed the exam.

Correct Answer :-One student studied really hard for the exam; surprisingly, she failed the exam.

10)
Question Stimulus :-

Choose the option that best punctuates the given sentence:



Hello Mr Hughes Id like to check some information about my flight plan
e Hello, Mr. Hughes, I’d like to check some information about my flight plan.
e Hello, Mr. Hughes? I’d like to check some information about my flight plan?
e Hello, Mr. Hughes I’d like to check some information about my flight plan!
e Hello, Mr. Hughes, Id’ like to check some information about my flight’ plan?
Correct Answer :-Hello, Mr. Hughes, I’d like to check some information about my flight plan.
11)
Question Stimulus :-
Choose the option that best fills in to complete the given sentence::

The program allows a student to study, while he or she and work anywhere.
e continues to live
e is continuing to live
e will be continuing to live
e must continue to live
Correct Answer :-continues to live
12)
Question Stimulus :-
Choose the correct form of verb that is in agreement with the subject:
Fish and rice a staple diet.
e is
e are
e is being
e are being
Correct Answer :-is
13)
Question Stimulus :-
Choose the option that best transforms the sentence into its Direct / Indirect form:
‘Pass me that paper knife. I want to open the letter.’
e He was asking me to pass him the paper knife so that he could open the letter.
e He asked me to pass him the paper knife so that he could open the letter.

e He was saying to pass him the paper knife so that he could open the letter.



¢ He asked me to pass him the paper knife so he can open the letter.
Correct Answer :-He asked me to pass him the paper knife so that he could open the letter.
14)
Question Stimulus :-
Choose the appropriate option that fills in the given sentence correctly:
The pharmacy is the street, the post office.

e across, beside

e along, besides

e against, by

e between, near
Correct Answer :-across, beside
15)
Question Stimulus :-
Choose the option that best fills in to complete the given sentence:

The reviewers agree that this is one of the most interesting novels that recently
e have, been
e has, been
e had, been
e is, being
Correct Answer :-has, been
16)
Question Stimulus :-
Choose the appropriate option that fills in the given sentence correctly:

‘Macbeth’ is written Shakespeare; you will find more his plays
library.

e over, about, at
e for, in, at
e against, on, in
e by, of, in
Correct Answer :-by, of, in

17)

published.

the



Question Stimulus :-
Choose the option that best transforms the given sentence without changing its meaning:
Nothing can be gained without effort.
e No gains with effort.
e Everything can be gained with effort?
e Can anything be gained without effort?
e Can nothing be gained with effort?
Correct Answer :-Can anything be gained without effort?
18)
Question Stimulus :-
Read the sentence carefully and choose the option that has an error in it:

Bothered by the heavy traffic, some travelers prefer the more tranquil two-lane roads than the interstates
highways.

e Bothered by the heavy traffic,
e some travelers prefer
e the more tranquil two-lane roads
e than the interstates highways.
Correct Answer :-than the interstates highways.
19)
Question Stimulus :-
Choose the option that best transforms the sentence into its other voice:

Can we borrow two books at a time from the college library?

e Can two books be borrowed at a time from the college library?

e Can the college library borrow two books at a time?

e Could two books be borrowed at a time from the college library?

e Can two books be borrowed by us at a time from the college library?
Correct Answer :-Can two books be borrowed at a time from the college library?
20)

Question Stimulus :-
Choose the appropriate option that fills in the given sentence correctly:
My father was not hungry; , he ate a heavy lunch.

e nevertheless



e further
e besides
e instead
Correct Answer :-nevertheless

Topic:- RC_General English
1)

Question Stimulus :-

Read the following passage and answer the question given below:

1. Dve helped at a playground as well recently, and I’ve noticed that the boys take up all the space. The girls end
up playing in a little space, they have a house corner, and the girls end up in the house corner, or over in the book
corner, which are clearly defined spaces where boys don’t run around, whereas the rest of the space is taken up by
boys running around attacking each other, being Superman or Batman.

2. 1think generally that the way boys play tends to be more um, aggressive, perhaps even more violent than the
way that girls play. Boys, for example, tend to play games which involve competition, particularly using some kind
of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more
peacefully.

3. Ithink boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to
play a lot more games like skipping and those that are focused around babies and teddy bears.

How does the author describe the way the girls play?
e Gently
e Intelligently
e Peacefully
e Actively
Correct Answer :-Peacefully
2)
Question Stimulus :-

Read the following passage and answer the question given below:

1. DI’ve helped at a playground as well recently, and I’ve noticed that the boys take up all the space. The girls end
up playing in a little space, they have a house corner, and the girls end up in the house corner, or over in the book
corner, which are clearly defined spaces where boys don’t run around, whereas the rest of the space is taken up by
boys running around attacking each other, being Superman or Batman.

2. 1think generally that the way boys play tends to be more um, aggressive, perhaps even more violent than the
way that girls play. Boys, for example, tend to play games which involve competition, particularly using some kind
of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more
peacefully.

3. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to
play a lot more games like skipping and those that are focused around babies and teddy bears.



By what means do boys usually show their competitive but violent nature?

e By using weapons

e By using fists

e By using wrestling

e By using their legs
Correct Answer :-By using weapons
3)
Question Stimulus :-
Read the following passage and answer the question given below:
1. D’ve helped at a playground as well recently, and I’ve noticed that the boys take up all the space. The girls end
up playing in a little space, they have a house corner, and the girls end up in the house corner, or over in the book
corner, which are clearly defined spaces where boys don’t run around, whereas the rest of the space is taken up by
boys running around attacking each other, being Superman or Batman.
2. 1think generally that the way boys play tends to be more um, aggressive, perhaps even more violent than the
way that girls play. Boys, for example, tend to play games which involve competition, particularly using some kind
of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more

peacefully.

3. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to
play a lot more games like skipping and those that are focused around babies and teddy bears.

What do the boys like to be identified as?
e Spiderman
e Superman
e Batman
e Superman or Batman
Correct Answer :-
4)
Question Stimulus :-

Read the following passage and answer the question given below:

1. Dve helped at a playground as well recently, and I’ve noticed that the boys take up all the space. The girls end
up playing in a little space, they have a house corner, and the girls end up in the house corner, or over in the book
corner, which are clearly defined spaces where boys don’t run around, whereas the rest of the space is taken up by
boys running around attacking each other, being Superman or Batman.

2. 1 think generally that the way boys play tends to be more um, aggressive, perhaps even more violent than the
way that girls play. Boys, for example, tend to play games which involve competition, particularly using some kind
of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more
peacefully.

3. Ithink boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to
play a lot more games like skipping and those that are focused around babies and teddy bears.



What do boys’ games centre round?
e Mental strength
e Physical strength
e Athletic ability
e Climbing ability
Correct Answer :-Physical strength
)
Question Stimulus :-

Read the following passage and answer the question given below:

1. Dve helped at a playground as well recently, and I’ve noticed that the boys take up all the space. The girls end
up playing in a little space, they have a house corner, and the girls end up in the house corner, or over in the book
corner, which are clearly defined spaces where boys don’t run around, whereas the rest of the space is taken up by
boys running around attacking each other, being Superman or Batman.

2. 1 think generally that the way boys play tends to be more um, aggressive, perhaps even more violent than the
way that girls play. Boys, for example, tend to play games which involve competition, particularly using some kind
of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more
peacefully.

3. Ithink boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to
play a lot more games like skipping and those that are focused around babies and teddy bears.

When did the writer find out that boys take up more space?
e While teaching at a school
e While conducting a research
e While helping at a playground
e While conducting a workshop

Correct Answer :-While helping at a playground

Topic:- General Knowledge

1))

Question Stimulus :-

Where is “Hindola Mahal” situated? / %@W Wa)_b"f R %?
e Seoni / Rat
e Naresar / TR
e Anukhana / S<J@TT

e Mandu / II'IT"_,{



Correct Answer :-Mandu / HTg
2)
Question Stimulus :-
The first Chief Minister of Madhya Pradesh was . | ASTUGRT & UIH W q|
¢ Bhagwantrao Mandloi / HITddRTd mg
e Kailash Nath Katju / SETRMTIY BT
e Dwarka Prasad Mishra / G W9TG fiY
e Ravishankar Shukla / Ifq=i®R [T
Correct Answer :-Ravishankar Shukla / Ifq=i® PICN]
3)
Question Stimulus :-

Madhya Pradesh is the state by population in India. / SFREISIT & BT T AU YR BT
I B

Second largest / gIRT qqd §37

Largest / GEL 98T
Third largest / CIGMEER q8T1

Fifth largest / Uradar 999 98T

Correct Answer :-Fifth largest / UTear 999 qg38T
4)

Question Stimulus :-

Hyderabad is the capital of two states namely Telangana and . %mﬁ, a IrSal 3 2l"-T'[ GHIGH Td
@I AU g

e Andhra Pradesh / GIT?N%QT

e Tamil Nadu / @IS

e Kerala/ B3d

e Karanataka / $ilc®
Correct Answer :-Andhra Pradesh / 3TS[UGRT
S)
Question Stimulus :-

In which of the following states is Naya Raipur located? / e d A feg Tsa | T3 RTAYY e %?



Chhattisgarh / ET\'ﬂWTd

Bihar / ﬁ?ﬁ'

Himachal Pradesh / %ﬂﬁlﬂ TI%R’T
Maharashtra / HeIRTS¢

Correct Answer :-Chhattisgarh / E’&ﬂWI’E

6)
Question Stimulus :-

Gandhi Sagar dam’s foundation stone was laid by ./ e GTR §iY ot g BT IR I}
T T YT |

Mahatma Gandi / HelTHT e

Pandit Jawaharlal Nehru / Uf&d Sargdrd Ag%

Sardar Vallabhbhai Patel / IRGIR eAHHTS U

Bhagat Singh / WTd fig

Correct Answer :-Pandit Jawaharlal Nehru / Gf&d SEIRRGIG] ﬁ???
7

Question Stimulus :-

According to 2011 census, % of geographical area of Madhya Pradesh consists of forest area. / 2011

P TRUAT $ P, AU MMfAP &T DT % a9 8T &l
e 45,57
e 30.72
e 75.54
e 72.30
Correct Answer :-30.72
8)
Question Stimulus :-

Swami Vivekananda was a chief disciple of . T} faasreig & H0 s &
e Ramakrishna Paramahamsa / JTHH W[ RS

Sri Aurobindo / 4t 3Rfda!

Osho / 3iY=N

Sai Baba / TS 9TaT



Correct Answer :-Ramakrishna Paramahamsa / STHG W[ WRUeH
9)

Question Stimulus :-

was the first woman of Indian origin in space. / Safver § S arelt wRda Hd 3 ugd! afgar
A

Sunita Williams / ﬁ‘ﬂ’cﬂ faferawg

Kalpana Chawla / U= dIddl

Tessy Thomas / IR e

Nandini Harinath / Ffe=t g1y

Correct Answer :-Kalpana Chawla / U= dTdell

10)
Question Stimulus :-
is the only active volcano in India. / HIRd i THHTA G 1 W?ITE@' gl
e Narcondam / TRBISH
e Barren Island / a?_"l ﬁ'q
e Dhosi Hill / #i¥ft ggTSY
e Bharatang / HTRdl
Correct Answer :-Barren Island / 831 10
11)
Question Stimulus :-

Nathuram Premi was a poet and an intellectual giant in the field of ./ ATYRTH ol v sfa wd

¥ &ad e ga e A A
Jainism / ST e

Buddhism / ¥t &

Sikhism / 1@ o

Islam / SXATH

Correct Answer :-Jainism / 3T ¢
12)
Question Stimulus :-

Both the longest and the deepest cave of India are located in hills. / ?:a:ﬁ' YR Pt Jad el 3R

Tedt T veIfEal § fRua g1



Khasi / @It
Garo / TIRY
Jaintia / Sfergr
Ponmudi / tn'ﬂ@

Correct Answer :-Jaintia / aﬁl’CIT

13)
Question Stimulus :-
Which country has the largest army in the world? / fpg eur A fay &1 9s9 CEEL q=ued %?
e India/ HIRd
o USA / 3@R®T
e China /9
e Russia /¥
Correct Answer :-China / 9t
14)

Question Stimulus :-

Koyna Hydroelectric Power Project is located in which Indian state? / I Gl?lﬁ'g'ﬂ?f uf¥arer feg
YReTg 7o | fRya §2

e Uttar Pradesh / ST% UeXT

. Maharashtra/'FIB'lTl'g

e Rajasthan / ITSTRYTT

. Chhattisgarh/fﬁﬁ'\‘:ﬁﬁ
Correct Answer :-Maharashtra / 'FIFRTg
15)

Question Stimulus :-

Marble rock is situated along the river. / STHTHR DI T'-lE'ﬁ., T'Iﬁ & fopy fya %.I
Narmada / =|TfE¢'T
Betwa / Sddl

Chambal / I

Mahanadi / T



Correct Answer :-Narmada / THGT
16)
Question Stimulus :-
The High court of Madhya Pradesh is situated at ./ THAYST BT I ATATA - T R %I
e Bhopal / yurer
e Sanchi /gt
e Nagda / Tql
e Jabalpur / STdeTYY
Correct Answer :-Jabalpur / STd¢IYR
17)

Question Stimulus :-

Who among these is not one of the trinity of Carnatic music? / frrafafEa # ¥ $i9 Fafes w@ia #t ﬁ'ﬂf\'f
T8 32

e Muthuswami Dikshitar / 'ﬂﬂﬁﬂﬂ mﬁ
o Tyagaraja / ATRTS

e Syama Sastri / TATHT ML

o Swathi Thirunal / STfafa®-Te

Correct Answer :-Swathi Thirunal / WTfafasaTd

18)
Question Stimulus :-

The recipient of which one of the following awards given by Madhya Pradesh Government gets the highest
cash prize? / FFEARITET RHRI ¥ A frud Uraedal & 497 U IXHR §RT ST AH¢ R fedr
AT 32

Mahatma Gandhi award / HeTHT R JRIPIR

Kishore Kumar Award / f@=IR PHR RIPIY

Shikar Award / fRRaER YD R
Sharad Joshi award / IRG Sl YRIPR

Correct Answer :-Mahatma Gandhi award / HeTHI e YRIDTR
19)

Question Stimulus :-



has highest concentration of Marathi people outside Maharashtra. / HEIRTY cg dTgx HRTST ST

BT ITH 31fUH Hpwxom # gl
e Gujarat / eIRTd
e Madhya Pradesh / HUQ
e Chattisgarh / T.ﬁnw
e Goa/THal
Correct Answer :-Madhya Pradesh / H¥UQ
20)
Question Stimulus :-
There are bones in the human body. / T4 IR | - E%ﬂf%l
e 202
e 204
e 206
e 212
Correct Answer :-206
21)
Question Stimulus :-

is the smallest district as per 2011 census in Madhya Pradesh in terms of area. / 2011 P TUMET

TR AP & B0 A wem wRm A |99 Bter i g1
o Agar /3R
e Bhopal / HTUTd
e Datia/ Eﬁﬂﬂ
e Burhanpur / R8MYR
Correct Answer :-Datia / aﬁﬂ'ﬂ
22)
Question Stimulus :-

Which of the following cities is called "White City' of Rajasthan? / =1 | @ fory 218”1 oI &1 ‘glgc
R sgTomaT 82

. Ajmer/GITrI'ﬁ?
e Udaipur / 3qUYR
e Nagpur / ITYR



e Sri Ganganagar / St TR
Correct Answer :-Udaipur / 3GUUR
23)

Question Stimulus :-

The Chief Election Commissioner of India is appointed by . HIRd T BT g-Td T
g1 forga fomam e 31

e The Prime Minister / WUTTHAT

e The President / ?quﬁf

e Cabinet Minister / AW SH T

e All of the above / JURTaT Taft
Correct Answer :-The President / ?Tg'qﬁf
24)

Question Stimulus :-

Bhopal became the capital of Madhya Pradesh in the year ./ ‘-ﬁ'ql?l', ay | 'FIQJTCI%QT P IS
qqTl

* 1956
e 1965
e 1947
e 1974
Correct Answer :-1956
25)
Question Stimulus :-
World Bank headquarters is located at ./ faa s o1 HSITeq bl R« %?
e Switzerland / m
e Vienna / fager
e Geneva /foear
e Washington, D.C. / arfRivre 8. «t.
Correct Answer :-Washington, D.C. / IfRTe 8. 4t

Topic:- General Computer Knowledge

1)

Question Stimulus :-



What characterizes a hexadecimal number system? / %WI%@'FI?[ dR Rea St |0 ﬁ"xﬁ'ﬂl—d'lﬁ a?ﬂ %'?
e The system uses 10 numerical digits and 6 alphabets — 0,1,2,3,4,5,6,7,8,9,0,A,B,C,D,E,F
/ a8 Rreew 10 <gRRea 3R 9uT 6 TewTaed T ST HRar s -
0,1,2,3,4,5,6,7,8,9,0,A,B,C,D,E,F
® The system uses 6 numbers - 0,1,2,3,4,5,6
1 % Red 6 H@ITSHl BT IUANT HRAT R - 0,1,2,3,4,5,6

e [t is a numbering system with real numbers having up to 6 numbers to the right of a decimal point eg:
25.123456

/ 98 IRfde TEnai areT AafeT Rew § Rrd germee g & o ot ¢ Tem e §, Seevud

fore : 25.123456
e None of the above / SURIGT H I aﬂ% qﬁ

Correct Answer :-The system uses 10 numerical digits and 6 alphabets - 0,1,2,3,4,5,6,7,8,9,0,A,B,C,D,E,F / 9§

Rew 10 gARwa fefored auT 6 TePEeH &1 IUaNT a1 8 - 0,1,2,3,4,5,6,7,8,9,0,A,B,C,D, E,F
2)

Question Stimulus :-

What is the purpose of flow control? / At @?{ Cacl 3%!81 g 8?

¢ To ensure that data is retransmitted if an acknowledgment is not received. / ?T% Eﬁﬁ\?ﬁ? Ut T-Iﬁ

g3 & Y gif3ra sen fb Ser Reiafire fovar man @

* To reassemble segments in the correct order at the destination device. / Sf¥e%M f&arga W) m C|
el H | Rerdvad a1

e To provide a means for the receiver to govern the amount of data sent by the sender. / T3 E1Rd uftra ser

Dt ATAT DI a8+ B 7 IR & Foe arens wer s
¢ To regulate the size of each segment. / U TS & ATHR HI Al s

Correct Answer :-To provide a means for the receiver to govern the amount of data sent by the sender. / @3’\'

RT AT ST B 4T o1 a1 B o Rt & fore wreay wer s
3)
Question Stimulus :-

Which of the following are word processing software? / o A A o 98 urARiT 9w %?
e WordPerfect / TSI AT
e Easy Word / Eﬁﬁ I8

e MS Word/ TH QY T8
e All of the above / JURTad T+



Correct Answer :-All of the above / SURTad J
4)
Question Stimulus :-

In MS Word, by default, on which page the header or the footer is printed? / MS Word ﬁ, %3? T R foa ow

R fewiee & MR W flie gid 37

e on first page /usﬁﬂmw

e on alternate page / e UST IR

® on every page / U UST UR

¢ none of the above /mﬁ ﬁ @' ﬁ's‘?é’t
Correct Answer :-on every page / UAP U R
S)

Question Stimulus :-

Mail access starts with client when user needs to download e-mail from the ./ FdAT8C ¥ Iy A Qﬂ'\ﬁﬂ G
SRY FiaT § 9T Yalar &t ¥ §-0F SISTAIS B B MagwHdl gidl 2 |

e Mail Box / A STeT

e Mail Server / Ad Hax

IP Server / IP w

Internet / Rﬁ?

Correct Answer :-Mail Box / Al 91

6)
Question Stimulus :-

Which of the following can be used as slide background in MS PowerPoint? / MS PowerPoint ﬁ, fada

fra®T ST WSS dHITSS & U | 54T o wadr 82
e Gradient / "3[%({2'
o Texture / THITR
e Picture / fUTRR
e All of the above / SURIaT T
Correct Answer :-All of the above / SR It
7)

Question Stimulus :-



In MS-DOS, only filenames and extensions are to be displayed in wide format, which command you’ll use? / MS-

gg%ﬁ,mmﬁwammﬁvﬁmw‘ﬁaﬁ%ﬁ%mm%,mmmmw

e Dir/w

e Dir/a

e Dir/s

e Dir/b
Correct Answer :-Dir/w
8)
Question Stimulus :-

In MS PowerPoint, what is defined by handout master? / m ﬁ, %33"32’ HICR GIRT AT gy
fopar wTaT 82

Slide formatting / T3S WIHTEIT

Slide transition / ¥IgS aﬁl‘\"ﬁ

Layout of Handout / %GTGI'IGE' BT ASAST

Layout of slide / ¥IIgS I LR

Correct Answer :-Layout of Handout / TI13ATIT FT A3
9)
Question Stimulus :-

In MS Excel, Comments put in cells are called ./ MS Excel ¥, 9@ & m TG HEArd &

Smart tip/FTl'éﬁ'q
Cell tip / 99 feu
Webtip/aaﬁ'q

Soﬂﬁp/ﬁ'ﬂfﬁ'q

Correct Answer :-Cell tip /O feu

10)

Question Stimulus :-

The most common HTML lists are ./ At FTHT HTML ﬁlﬂ %
e Ordered lists / 3{TSS ﬁl@
e Unordered lists / Gﬂaﬁﬁm
« Random lists / XSH m



e Ordered and Random lists / 316 S ﬁl’\‘ﬂ'\q AR ¥su ﬁl’\‘i‘\q
Correct Answer :-Ordered and Random lists / 3{TSS ﬁ'l'\‘?.['\‘[ AR ¥sH ﬁ'l'\"{\‘[
11)
Question Stimulus :-

Which of the following is the valid host range for the subnet 255.255.255.192 on which the IP address
192.168.168.188 resides? / =T # A &1 YT 255.255.255.192 & g A e I & SR IP Qg'\rr
192.168.168.188 IgaT 22

192.168.168.129-190

192.168.168.129-191

192.168.168.128-190

192.168.168.128-192
Correct Answer :-192.168.168.129-190
12)

Question Stimulus :-

Computers built before the First Generation of computers were: / ¥ S & HFed d Ugd fAffa
Py Of

Electrical / Safac®d
Electromechanical / gﬁﬂﬂ Abfpa

Mechanical / A& fod
None of these / ST H A HIg T}

Correct Answer :-Electromechanical / Eﬁﬂiﬁ AFfHa

13)
Question Stimulus :-

In excel (ver. 2007 onwards), which of the following types are used to perform the What-If Analysis, under data

tab? / Excel (2007 & diq * 3’?&[) ﬁ, SEIT P ded What-If Analysis WRBH HH P ﬁl’Q’ g A 9 fraer
U fomaT SiraT 82

e Data table / STET ¢qd
« Goal seek / &l HIP
e Scenario Manager / ﬁﬁﬁ"ﬁ ﬁﬁvﬂ
e All of above / JURTad At
Correct Answer :-All of above / SURTad T

14)



Question Stimulus :-
Windows Naming Service (WINS) . / fasier At |fda (WINS) I

¢ dynamically allocates IP addresses to client computers / W’IEE’ Wﬁ &l SRS FU A 1p Eg'\"-[
TdIhe Hdl 8

e runs on Windows NT W/s / faSIol NT W/s TR ¥ &t @
e resolves computer names to IP addresses / IP Eé'\q & f%I'Q' HIYCY AR BT RIS Hdl %
e Increases broadcast traffic / ITSPHIEC Eﬁm G| q@ Canikd

Correct Answer :-resolves computer names to IP addresses / IP Qg'\‘l * ﬁl"’{ PRYCY AR PT FARTHIT Bl

15)

Question Stimulus :-

Which of the following is the correct HTML tag to comment in HTML? / HTML APHC IS 1%11!' A g

TE HTML T B2
o <!/and//>
e <l-and—>
o <l and #i#>
e <1% and %%>
Correct Answer :-<!-and —>
16)
Question Stimulus :-

In Linux, how could you install the file ipchains-1.3.9-5.i386.rpm? / foFe1 ®, 39 WISH ipchains-1.3.9-
5.i386.rpm $q ICTA HHI?

e rpm -qip ipchains

e rpm -Uvh ipchains

e rpm -i ipchains* .i386.rpm

e rpm -e ipchains-1.3.9-5.i386.rpm
Correct Answer :-rpm -i ipchains* .i386.rpm
17)
Question Stimulus :-

In Linux, how can you add a new user, to your system? / GGG ff, 39 3 Req & ¢ ok G Q’S’H’Tm
&

e Using useradd / useradd T I B 8¢



e Using adduser / adduser T SUIRT Hd 4y
e Using linuxconf / linuxconf ®T SUIRT HRd 8¢
e All of the above / 3URTad Tt
Correct Answer :-All of the above / SURTad I
18)
Question Stimulus :-
In MS Word, “Ctrl + Home” is used to / MS Word H “Ctrl + Home” BT IYTNT fHAT ATAT % -
* Moves the cursor to the beginning of Document / U DI saq;ﬁz' & ARY A TIE?Iﬁ & ferg
* Moves the cursor to the beginning of Line | B B GIES] FARYH qﬁﬂ'ﬁ & ﬁl’E
e Moves the cursor to the beginning of Paragraph / W 3| aTI'ﬂTW * 3RY s | tI§T=I'Ie[ & ﬁl’({
e All of the above / SURTad At

Correct Answer :-Moves the cursor to the beginning of Document / R I SRHC & ARH H U &

19)

Question Stimulus :-

What is commonly used as the unit of measure of processor speed? / HTHT U fPas ST urawR
TftE & AU Bt 5PTs S U A fHar wran 22

Giga Hertz (GHz) / TTRTT ¢l
Giga Bytes per second (GBps) / T ClE ufd b s

Giga Bytes (GB) / i CIE
All of the above / JURTad ot

Correct Answer :-Giga Hertz (GHz) / T g¢a

20)
Question Stimulus :-

What protocol does PPP use to identify the Network layer protocol? / PPP Aead AW Wieipid B fafga I
¥ fore {5 vieiaia T SUART $3a1 82

e NCP

ISDN

HDLC

e LCP



Correct Answer :-NCP
21)
Question Stimulus :-

In MS Word, which feature helps you to inserts the contents of the Clipboard as text without any formatting? / MS

év:ﬁd;,ﬁ?;ﬁﬁﬁwmé%?ﬁ?ﬁﬁmwm%m%wﬁﬁimﬁﬁw

Paste Special / URE WA
Format Painter / BTHC ﬂa

Page Setup / UST 93y

Styles / &g

Correct Answer :-Paste Special / URe WA
22)

Question Stimulus :-

In a Database Management System (DBMS) which of the following is True of an Index? / Scay AAwAe Riew
(DBMS) ¥, Th S & A A R A d s ardaw Ia g2

e It is a data structure that improves speed of retrieving data / g U el TR % Ell ﬁ_gﬂﬁ'ﬂ STl afis
e g

o Tt is created to enable faster data insert and update operations / g el 37\‘1?.‘: P AT PIA YT ATIRRIT BT
Juse A & forg Fffa frar mar @

e There can be only one index in a table / U d9d A dad Udh 3@?\‘[ Eﬁ' b dl %
e None of the above / SURIGd H I ﬂﬁ'&" EE

Correct Answer :-It is a data structure that improves speed of retrieving data / g Th ST TR % Ell ﬁﬁﬁ"T
STl A TeEaTe

23)
Question Stimulus :-

In MS Excel (ver 2007 onwards), Multiple calculations can be made in a single formula using ./ MS Excel

(2007 @ SR q) F __ T IUYRT Hd §Y 3P TUFTY T BIHe d I o qbelt g
e standard formula / €SS W\ﬁiﬁT
e array formula /a tﬁ'%T
e complex formula / PIied W‘IJ'{?IT
e smart formula / TTE W‘I"{?IT
Correct Answer :-array formula /a W‘I"liﬁT

24)



Question Stimulus :-

In MS-DOS, which command displays all the files having the same name but different extensions? / MS-DOS ﬁ:,

P AT BHTS 37 9 BIecd o1 3T Har § oFd 919 994 afp T v fu=1-fu=1 gd 82

e Dir filename.*

e Dir filename.ext

e Dir *.sys

e Dir *.ext
Correct Answer :-Dir filename.*
25)
Question Stimulus :-

The HTML <div> element is a . / HTML <div> Q?ﬂ'ﬂ? %

Inline element / mt{?ﬂ'ﬁ?

Outline element / ST3CClg Qﬁl’ﬁ?
Block level element / SAT® Ade 'E?ﬁ'el?

None of the above / SURTad & I aﬁ's‘ qﬁ

Correct Answer :-Block level element / SAT® Ade Q?ﬂ'ﬁ?

Topic:- General Logical Reasoning

1)
Question Stimulus :-

If the side of a square is increased by 7 %, then, its area will increase by: / gfe it @t

YT 7% W T¢T &1 9, df STPBT &ABd sa- & 9¢ S
* 7%
e 49 %
* 49%
e 14.49 %
Correct Answer :-14.49 %
2)
Question Stimulus :-

What is the 10t" alphabet after the third vowel in the alphabet series? / (&R $@al # TR
W P 91G 107 3&R DI A 3?

e R

e T



e S

e X
Correct Answer :-S
3)
Question Stimulus :-

In the sequence shown below, which figure comes next? / ey eaErr =
S H, Il Hbid Hi HT AR

PPO®

Correct Answer :-

4)



Question Stimulus :-
Find the odd one out: / T fauw 31d Fifeme:
e Kidnap / 3fUg Ul
e Abduct / HITT & ST
e Snatch / BT
e Murder / T
Correct Answer :-Murder / gdT
o)
Question Stimulus :-

At what compound interest rate would an amount increase by 96 % in two years? / g

Thgfs TS &3 TR BIg IPH o a9l H 96% A §¢ SIRRf?

e 33%

50 %

48 %

40 %

Correct Answer :-40 %
6)

Question Stimulus :-

If FRIEND is coded IRFDNE, then how is RELATION coded? / 1@ FRIEND &) IRFDNE Q Difsd foaar

SITdT 8, @Y RELATION &) 31 HfSa fpar sirar g2
e NOITALER
e ALERTION
e ALERNOIT
e RELANOIT
Correct Answer :-ALERNOIT
7)
Question Stimulus :-

How many 7's are there in the following sequence that are immediately followed by

1, but not immediately preceded by 9? / FAFA AP 78N 1 P PA A €, AfbT19 A
T U5 e 32
4371671477249117997127117914

e One/Udh



e Two /3l
e Three /i
« more than three / d9 3 3ift®
Correct Answer :-Three / i1
8)
Question Stimulus :-
The HCF of 2, 3, and 5 is /2, 3, 3 5 T TA.I.4% RN
e 0
e 1
e 3
e 5
Correct Answer :-1
9)
Question Stimulus :-

Complete the series choosing the missing letter/s: / & &R TADY YWl Eg| T PifoT:

a__bbc_aab_cca_ bbcc
e ab,b,a
e c,a,b,a
e a,¢c b,a
e b,a,c b
Correct Answer :-a, ¢, b, a
10)
Question Stimulus :-
(58 x2)/4+(66/3) x2-30/10) x4=2?
e 54
e 58
e 50
e 61
Correct Answer :-61
11)

Question Stimulus :-



The number of times 609 is divided by 61, so that the remainder is less than 61 is/

609 B 61 9 fopa-t AR fawrfora forar mar, o/ v 61 & FH B
e 8
e 9
e 10
e 11
Correct Answer :-9
12)
Question Stimulus :-

If GROUND is coded 7181521144, then how is CRICKET coded? / g/ed GROUND DI 7181521144 Q BIfSA

g SITaT 8, 91 CRICKET 9 $9 Sifsd fpar ST 82

3189312521

3189311521

3189311421

3189311520

Correct Answer :-3189311520
13)

Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the INCORRECT combination: /

1 &1 s e § srert iR e 1w W IufRIT § | T "ale Ugda:

.................................

e i

° jv
Correct Answer :-iii
14)

Question Stimulus :-

The speeds of three trains are in the proportion 20 : 19 : 18. If their speeds are increased by 18, 19 and 20%
respectively, the proportion of their current speeds is / ?ﬂqm%u‘r PIaTe 20: 19: 18P JATIUTT i %I gfe
ITHY T Y FEX: 18, 19 AR 20% A TeT 134T 9, T 3T} I AT BT FHITUTE SR

e 360 : 361 : 360

e 360 : 361 : 362



e 1:1:1

e 2360 : 2261 : 2160
Correct Answer :-2360 : 2261 : 2160
15)
Question Stimulus :-

Kiran's marks in different squjgcts were 43, 39, 51, 37, 39, and 49. What will be his
average? / fpva & fafira fawal # siw 43, 39, 51, 37, 39, 3R 49 A1 ITPT AT FT BRM?

e 43

e 51

e 41

o 44
Correct Answer :-43
16)
Question Stimulus :-

Complete the series choosing the missing number/s: / & BT AHR YT DI A

HIfeTg:
2,6,12,20,
e 25
o 28
e 30
e 35
Correct Answer :-30
17)
Question Stimulus :-
During a meeting, seven managers of a company are seated around a circular table. It is known that: T is not the
finance manager and is seated to the left of S, a production manager. R is seated between Q and S and he is a

quality control manager. The finance manager is seated to the right of Q. V is seated to the right of the finance
manager. U an operations manager is seated between V and T. The managers are identified as P, Q, R, S, T, U and

v. /% HifdT & GRM, TP W & Id Udud T A9 & A 3 F1 ag a8 fov: 7o
TP el § 3T AT USUPH, S & g1 3071 81 R, Q 3R S & diw do71 § 3R 98 Turan
o ydye 81 fad udu® Q & i 9371 81 V fa< udys & I 981 81 U, U Hfpar
Yayd VIR THF AT IsT2I W6usd P, Q, R, S, T, U 3R v & Fuffya 21

The finance manager is seated how far from the operations manager? /ﬁﬂﬁw, Wfepar ydus | fra-t gﬁ'
W 937 3?2



3

e 4
Correct Answer :-2
18)
Question Stimulus :-

If nib Iaf bal means elephants are mammals and laf nav nib means elephants are
out, the code for which word cannot be inferred with certainty? / af¢ nib laf bal &7
Hddaqd 55 elephants are mammals 3V Iaf nav nib@T Haca 55 elephants are out, CIKCIEKd
1Y ford Isg & o die srgaTia 181 fvar o1 J@ar?

o Mammals

e Out

e FElephants

o None of the above / G’Ugﬁ?[##aﬁs‘%‘?
Correct Answer :-Elephants
19)
Question Stimulus :-

A train crosses a man in 5 sec and a bridge of length 300 m in 20 sec. Find the speed

and length of the train./wmwﬁﬁsmﬁaﬁ?motﬁﬂﬁﬁgﬁﬁ 20 GHUS |
TR $dl 81 YerSt 3t Td 3R waTs e |

20 m/s, 100 m / 2081/, 1004}

20 m/s, 150 m / 201/, 150}

25 m/s, 100 m /2591, 1004}

25 m/s, 150 m /25111@, 150}

Correct Answer :-20 m/s, 100 m / ZOﬁT@, 100¥}
20)

Question Stimulus :-

Find the value of (‘:8]- _[‘:1']- / a8} _[31]
70 70 &I Hed FAd B

e 10.9

e 109



e 1,090

e 10,900
Correct Answer :-10.9
21)
Question Stimulus :-

If the following two squares shown below overlap, which one ofthe following

upﬁnmisfm&&?-‘qﬁﬁmmmﬁﬁmﬁ= o
oIt Tahetl /1 O &I o1 =1

Correct Answer :-

22)



Question Stimulus :-

In a certain village, 6 women can work for 8 hr a day and finish a work in 10 days. If
10 women are working for 6 hr a day, then how many days will they take to

complete the work? / &l T #, 6 3ivd T feT A 8 HUE BTH B vl & 3R rd &1 10 fei &
RT R bl 81 Al 10 3R TP fe H 6 g0 HTH H= 76! &, af I $rd JHTW HA H fpaq fom e

10 days / 10 f&=

12.5 days / 12.5 f&

13 days / 13 f&=
8 days / 8 fe=1

Correct Answer :-8 days / 8 fe

23)
Question Stimulus :-
234 +315-(2%x13) +212-313=2?
e 344
o 234
o 422
e 313
Correct Answer :-422
24)
Question Stimulus :-

Tanya's grandfather was 8 times older to her 16 years ago. He would be 3 times of
her age 8 years from now. What was ratio of ages of Tanya and her grandfather 8

years ago? / 10T & SISl 16 9 Ugd IUH 8 AT 9¢ A1 3F T 8 T & qTG 9 ST AR & <1+ AT
g1 8 af ud 1T SR IAP qTSISi B Y BT SIJUTd FIT AT?

e 11:50

e 11:51

e 11:53

e 11:54
Correct Answer :-11 : 53
25)
Question Stimulus :-

The series given below contains a sequence of nhumbers. Identify the INCORRECT

combination: / Y &t ¥ g@aT & T=AT3M BT pH IURRC g1 Tad T

5,17, 37, 65, 100, 145



e 14
e 65
e 17
e 100
Correct Answer :-100

Topic:- General Management

1)
Question Stimulus :-

Sourcing and putting the resources — be it human, financial, physical, or any other — required for achieving the
goals of an organization fall in the category of which function? T T3+ & Tl DI U P & "%I'Q' STAY P
AHa, fawira, ifas Sary=l o U S SR Hafed &1 - fa ol 35t 9oft & smar g 2

Organising / ST
Planning / IELIGE]
Leading / ﬁ?[a'

Controlling / IBLELK RG]

Correct Answer :-Organising / DINIEE
2)
Question Stimulus :-
Identify the Fast moving consumer goods / deil 9 azrt-ﬁ SUYiET ?ﬂ_g'\?ﬁ G| u%%rrfr -
e Car/ PR
e Cycle/ OTgfd
e Sewing Machine / ﬁl’(‘ﬂé =i+
e Ketch-Up sauce / FEY qTE
Correct Answer :-Ketch-Up sauce / Eq I
3)
Question Stimulus :-

Which source of capital is used to get financial leverage? /gy gmar & fore 'q\\_rﬁ & fore wdlia &1
WA {3 St @2

e Debt capital / W‘iﬁﬁ
o Equity capital / :ﬁw@'sﬁ
¢ Long-term loans / Eﬂﬁﬂﬂ?ﬁ'ﬁﬂ



e Short-term loans / 3TUPTN BT

Correct Answer :-Debt capital / 50T Ij'y:ﬂ
4)
Question Stimulus :-

takes in to account the total earning expected from an investment proposals over its full life

time. / T St Hra o fHawr wRaral § SMRITI=U $d 319 &t faaR o war 31
e Pay Back / YT a1yl (U §)
e Average rate of return / Ufa®pd &I 3d &3
« NPV /TUIGL
o Internal rate of return / ATUHU! B TARD x4
Correct Answer :-Average rate of return / ufowd & 3ivTd v

5)
Question Stimulus :-

A business unit in “question mark”™ categorv has a relatively

market share in a rapidlv growing market / U&h o=l & déd SR &,
“ged ey Ao § UOR SHE, TaTT aarR fgear
BiaT &1

High / 3

Low / U

Moderate / HHIH

Very High / dgd 3=
Correct Answer :-Low / 3¢
6)

Question Stimulus :-

Which of the following types of compensation is considered as the reward that an employee earns in addition to
his/her regular salary, based on the performance of the individual? / trﬁlq:\rur 31 fRufafaa # S UbR, Th

W%yﬁmm%ﬁ%wﬁﬁﬁmﬁm%mwﬁﬁw&m%%aﬁﬁw
WIS 3l 82

* Basic salary / Hﬁaﬂq
e Tax /P

e Incentives / Iﬁ?\‘l’lﬂqm



» Fringe benefits / Gﬁmﬁ 1K
Correct Answer :-Incentives / WQTQT
7
Question Stimulus :-

Which skill refers to acquisition of knowledge and proficiency in a certain specialised field? / Wﬁﬁl@ 833-1 i |

B W BRI, F SR geaT & Srfrrgor A Wafta 2
o Interpersonal SKkills / Sadafeas HIerd
e Technical Skills / THIB] DI
¢ Conceptual Skills / ITIR® HIa
« Soft Skills / Jg BIA
Correct Answer :-Technical Skills / TH-ID! DI
8)
Question Stimulus :-

Which of the following roles do not fall under the category of Decisional role played by a manager? /

ﬁg@@auﬁmﬁﬁﬁaﬁﬂ?ﬁuﬁmjﬁwmﬁWﬂ%ﬁWuﬁm&ﬁaﬁ%ﬂﬁqﬁ

« Disturbance handler / 3STTRIT HATcIP
e Resource allocator / THTUT HHTSIP
e Negotiator / aTATPR
e Spokesperson / HUdddl
Correct Answer :-Spokesperson / Udddl
9)
Question Stimulus :-

The act of assigning formal authority and responsibility to a subordinate for completing specific

activities is known as / ﬁmwﬁﬁﬁﬁaﬁwaﬂﬁa?ﬁqwmﬁqu%aﬁ
PR 3R formert Y™ 3 &1 o1d Hgarar s

e Delegation / PRIDISE]

« Decentralization / [P0l

e Departmentalization / faurhewor
o Differentiation / ﬁ"ﬂﬂq



Correct Answer :-Delegation / ERICISE]

10)
Question Stimulus :-

Specialists from different functional departments are drawn by an organization and assigned one or
more projects being led by project managers. Such an organization is called a

memﬁwﬁﬁﬁﬁwﬁaﬁwwmwmmﬁeﬁ?a%ﬁﬁwwmﬁ
;ﬁﬁﬁwmwﬁmuﬁﬁwﬁﬁﬁuﬁmmélww%w E&NIG]
|

Team Organization / €19 TS

Learning Organization / Rreror dreq

Matrix Organisation / ﬁ'@?\q Mo

Virtual Organization / 3T Y SreH

Correct Answer :-Matrix Organisation / ﬁﬁﬂ'\q TS
11)
Question Stimulus :-

Which of the following types of interviews aim to eliminate the applicants who are obviously

unqualified for the job? / I # | fFT PR & ATUTPHR 1 I£RA, I 3ATdeH] B Sicd B8, &
Wya: $1d & e g g2

e Selection interview / JI HI&TchIR
e Structural interview / HRATHD HIGTHIR
e Preliminary interview / TRIY® T&Teh IR
« Unstructured interview / 3TERfed ATEHTDR
Correct Answer :-Preliminary interview / URIH® ATUTHR

12)
Question Stimulus :-

Which of the following elements in HRM has the most important use of technology in an organization?

/éz;\%m # faferfad i & Q 19 | 9 &1, TP S6 6 Mot &1 a9 Agaqul ST

Workforce diversity / ®rdcd fafaerr

e Human capital / Wqﬁﬁ

Human resource information system / HIFd JqTY '\‘FFITWI'I?&

Service society / Ja1 GHTS



Correct Answer :-Human resource information system / HI-d IHTYA '\‘EHTW
13)
Question Stimulus :-
Financial Reporting is mandatory for / & ﬁl’E factta feard aT'IT 3rferard %I
¢ Sole proprietorship business / QWWT&IEW
e Public limited companies / ufetre ferfids sufal
e Private limited companies / !:nsﬁ?:' fafires wufal
e Partnership firms / m B
Correct Answer :-Public limited companies / ufeeres ferfids sufal
14)
Question Stimulus :-
Spontaneous financing includes WEGH foadta= CARIIEGERGI %I
e Accounts receivables /m SEC]
e Accounts payable / e A
e Short-term loan / 3(¢T HTA HBUI

e Aline of credit / 50T &t UEER ]
Correct Answer :-Accounts payable / e A
15)
Question Stimulus :-

Money market mutual funds / 1 IR T3 B

e Also known as finance companies / foira sufal & wu d Y ST Sran % I

e Are agencies that enable individuals and small businesses to invest indirectly in money-market

instruments / TSI Bl @ Wil fP YF-TTSIR SUDBIUN § el 79 I = o3 & fore safeal
3R B ATIRY BT H&H B3l 2

e Are involved in acquiring and placing mortgages / AR v 3Ryt e ® =nfie Eﬂ% %.I

e Are available only to high net-worth individuals / Fad 3o fAaa Jufy arat safeaal & ﬁfQ'
ST ga 31

Correct Answer :-Are agencies that enable individuals and small businesses to invest indirectly in money-

market instruments/@Wﬁ?ﬁ%ﬁﬁ?ﬂq—wmﬁm&[??qﬁﬁaﬂwa?mm
3R DI ATIRT HY T&H Hdl 81

16)



Question Stimulus :-

The diagram alongside represents the structure of a multi-product organization

with several departments. We can say that it is a Heldal
HIEHTT &, ﬁfh%ﬂﬁﬁﬂ%ﬂwmaﬁmwﬁmﬁaﬁ
wEdd e T g Eﬁﬂmﬁcﬁ?ﬂﬁw— -

I'IIEII:'IEIHE-.

TTEnt

Iresea:ch. ‘p’ﬁg::':' sales | finance

_-pmduc[.ﬂ:

.pmﬂuu E!;

_prclc[uct'::

Metric organization / 1ﬂ12$ TS

Complex organization | Sifed e

Columnar organization / Wt "ireH

Matrix organization / ﬁﬁ?\q TS

Correct Answer :-Matrix organization /ﬁﬁ?\‘[ LUGE!
17)

Question Stimulus :-

I%n the conflict process when does the conflict become visible? / Wwﬁm ﬁ, WW E'@Th?-l'\" ﬁ?ﬂ
?

INlumination / tl?ﬂf@f |

Intentions / ETI'Q;fﬁ
Cognition / GIﬁ-EI'FT s

e Behaviour / Wﬁ
Correct Answer :-Behaviour / Wﬁ'
18)

Question Stimulus :-

Effectiveness is related to / THTIRIdT 3’“’@ LEIRG Eﬁ—cﬁ %
e Goal achievement / d&J Iudfs



o Efficiency / Q&dT
e Cost reduction / TRTd H HHI
e Resource mobilization / HHTU ST

Correct Answer :-Goal achievement / T&d IUAfs

19)

Question Stimulus :-

Gross profit is a Sales minus (-) ./ Hbd |, fawt gera Eﬁ?ﬂ %I
« all expenses / It e
¢ office and administration expenses / m@ URMAA g
e selling and distribution expenses / ICER Td faa=ur &1 @
 cost of goods sold / ICERRIGEIRSING]

Correct Answer :-cost of goods sold / CERRIGEIRSING]

20)

Question Stimulus :-

Recording of all transactions at cost and not market value is known as / It arTd R @A @1 Srfiaed
BT 3R TR &I W T8l BT Fgard g

e Time period concept / HHY 3(afer e

Realization concept / Y YR

Cost Concept / IRTd TYRUI
e Materiality concept / HIgT S[AYURUIT
Correct Answer :-Cost Concept / RTd SIAYRUIT

21)

Question Stimulus :-

Cost of goods sold is / fasg arht &t RTd, ﬁ?ﬁ %I

¢ Opening stock+ purchases —Closing stock +Direct costs / URFU® Wid + Wi - 3ifdd w1 +
Y& AT

e Purchase- sales / 9 - faspg
¢ Opening stock +sales / URfU® e + fawg

e Opening stock + purchase / RIS ©TF + Y



Correct Answer :-Opening stock+ purchases —Closing stock +Direct costs / RIS wId + TWiig -
SifH TS + Ya&l ARt

22)

Question Stimulus :-

BRS is prepared to . / BRS®I %WWW SIGLH %I
e Update balance in cash book / m aé’t ﬁ'\‘lﬂ?l:f Sefd-

e Reconcile the difference between cash book and bank book / aﬁ' CHEEIRCES H’%ﬁﬂ & a9
3R & ATHSE

e Bothaandb / ﬁaaﬁ?b
e None of the above / tmﬁa%rﬁaﬁ's‘?sﬁ

Correct Answer :-Reconcile the difference between cash book and bank book / ﬁﬁ a%’r 3R g

JRAa®T & di 3R & Ao
23)

Question Stimulus :-

Marketing ecologically safe products and promoting activities beneficial to the physical environment is

known as / WIfa® yatavur & fore wraewg ok wifvfRufae! Gida Samel v nfafafir
a1 ¢+ & ¥U | {1 91+ arar fauoH sgamar g -

Social Marketing / grTfere fauoa
Green Marketing / giva fauo=
Intimacy marketing / At fagora
Cultural marketing / Wﬁ'ﬂm

Correct Answer :-Green Marketing / giva fauo=

24)
Question Stimulus :-

Total revenue of a business for the year is INR 240000 and gross profit is INR 60000. What is the gross profit
ratio? /wwmwaﬁﬁwm 240000 9T T4 Jbd dTH 60000W%I qbd TH qUrd T

32
. 24%
. 25%
. 40%
. 50%

Correct Answer :-25%



25)
Question Stimulus :-

entails monitoring environment, assessing the impact of strategic plans and changing
those plans as and when needed / CIGICEAU BB RIRIG IR T Fﬁ? a_clT %,
SHT3MT & WHTT BT SATH T Bl 8 3R ATIRAH T IR 37 Arerr3 # uRad w1 gl

e Strategic Control / B IGEAEUEL
e Tactical Control / HTH® =0T
e Operational Control / PEIGERELEL
e Span of control / ﬁﬂﬁ'ﬂﬁ'\‘ﬂ'ﬁ
Correct Answer :-Strategic Control / Jurfa® Ao




